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CORRIGÉ DE L’EXERCICE



CORRECTION

Déterminons la forme algébrique de X:

Nous avons:  X = 1 + i z
2 z - i

,   avec z  i
2

   et   z =  + i y .

Ainsi:  • 2 z - i = 2 ( x + i y ) - i  cad  2 z - i = 2   + i ( 2 y - 1 ),

	 • 1 + i z = 1 + i ( x + i y )  cad  1 + i z = ( 1 - y ) + i (   ) .

Par conséquent:  X = 
( 1 - y ) + i ( x )

2 x + i ( 2 y - 1 )
 = 

( 1 - y + i x ) ( 2 x - i ( 2 y - 1 ) )
( 2 x + i ( 2 y - 1 ) ) ( 2 x - i ( 2 y - 1 ) )

	 = 
( 1 - y + i x ) ( 2 x - 2 i y + i )

( 2 x ) 2 + ( 2 y - 1 ) 2

	 = 
 + i ( 2   2 + 2 y 2 - 3 y - 1 )

4   2 + 4 y 2 - 4 y + 1
 .

Au total, la forme algébrique de X s’écrit:

X =  
4   2 + 4 y 2 - 4 y + 1

   + i x  
2 x 2 + 2 y 2 - 3 y - 1
4 x 2 + 4 y 2 - 4 y + 1

  . 

1FORME ALGÉBRIQUE DE X =  ( z )
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